
X[0] <= 0.5
mse = 0.942

samples = 26332
value = -0.001

X[17] <= 0.5
mse = 0.649

samples = 20599
value = 0.269

True X[16] <= 0.5
mse = 0.781

samples = 5733
value = -0.978

False

X[19] <= 0.029
mse = 0.156

samples = 1128
value = -0.116

X[21] <= 0.246
mse = 0.668

samples = 19471
value = 0.292

X[22] <= 0.5
mse = 0.134

samples = 743
value = -0.072

X[1] <= 0.5
mse = 0.187

samples = 385
value = -0.203

X[18] <= 0.5
mse = 0.128

samples = 546
value = -0.097

X[19] <= -0.97
mse = 0.145

samples = 197
value = -0.007

X[13] <= 0.5
mse = 0.121

samples = 294
value = -0.141

X[19] <= -1.035
mse = 0.131

samples = 252
value = -0.049

X[19] <= -0.735
mse = 0.102

samples = 232
value = -0.113

X[12] <= 0.5
mse = 0.177
samples = 62
value = -0.239

mse = 0.092
samples = 141
value = -0.08

mse = 0.115
samples = 91
value = -0.171

mse = 0.176
samples = 56
value = -0.27

mse = 0.084
samples = 6
value = 0.058

X[19] <= -1.053
mse = 0.118
samples = 97
value = 0.01

X[29] <= 0.5
mse = 0.136

samples = 155
value = -0.087

mse = 0.115
samples = 94
value = -0.012

mse = 0.005
samples = 3
value = 0.415

mse = 0.139
samples = 97
value = -0.03

mse = 0.121
samples = 58
value = -0.169

X[16] <= 0.5
mse = 0.132
samples = 77
value = 0.07

X[21] <= -0.855
mse = 0.147

samples = 120
value = -0.056

X[19] <= -1.162
mse = 0.121
samples = 76
value = 0.079

mse = 0.0
samples = 1

value = -1.154

mse = 0.138
samples = 57
value = 0.028

mse = 0.041
samples = 19
value = 0.23

X[19] <= -0.901
mse = 0.266
samples = 11
value = -0.329

X[15] <= 0.5
mse = 0.132

samples = 109
value = -0.036

mse = 0.179
samples = 8

value = -0.154

mse = 0.267
samples = 3

value = -0.644

mse = 0.125
samples = 102
value = -0.053

mse = 0.168
samples = 7
value = 0.269

X[7] <= 0.5
mse = 0.231
samples = 22
value = -0.531

X[19] <= 1.473
mse = 0.178

samples = 363
value = -0.183

X[18] <= 0.5
mse = 0.135
samples = 21
value = -0.451

mse = -0.0
samples = 1

value = -1.821

X[30] <= 0.5
mse = 0.157
samples = 14
value = -0.575

X[8] <= 0.5
mse = 0.03
samples = 7

value = -0.243

mse = 0.101
samples = 10
value = -0.461

mse = 0.12
samples = 4

value = -1.031

mse = 0.007
samples = 5

value = -0.153

mse = 0.035
samples = 2
value = -0.37

X[19] <= 0.106
mse = 0.177

samples = 305
value = -0.152

X[3] <= 0.5
mse = 0.151
samples = 58
value = -0.345

X[20] <= 0.5
mse = 0.122
samples = 21
value = -0.428

X[21] <= 0.227
mse = 0.175

samples = 284
value = -0.133

mse = 0.098
samples = 19
value = -0.474

mse = 0.002
samples = 2
value = 0.224

mse = 0.102
samples = 34
value = 0.046

mse = 0.18
samples = 250
value = -0.16

X[25] <= 0.5
mse = 0.177
samples = 33
value = -0.441

X[19] <= 1.58
mse = 0.09

samples = 25
value = -0.219

mse = 0.173
samples = 26
value = -0.524

mse = 0.091
samples = 7

value = -0.163

mse = 0.05
samples = 5

value = -0.424

mse = 0.083
samples = 20
value = -0.142

X[2] <= 0.5
mse = 0.536

samples = 12774
value = 0.347

X[19] <= 3.871
mse = 0.903

samples = 6697
value = 0.188

X[9] <= 0.5
mse = 0.518

samples = 6073
value = 0.295

X[21] <= 0.245
mse = 0.548

samples = 6701
value = 0.394

X[1] <= 0.5
mse = 0.464

samples = 4998
value = 0.324

X[19] <= -1.064
mse = 0.745

samples = 1075
value = 0.16

X[19] <= 0.162
mse = 0.527

samples = 551
value = 0.161

X[21] <= 0.243
mse = 0.452

samples = 4447
value = 0.345

mse = 0.527
samples = 533
value = 0.144

mse = 0.324
samples = 18
value = 0.61

mse = 0.45
samples = 4434
value = 0.347

mse = 0.91
samples = 13
value = -0.247

X[10] <= 0.5
mse = 0.566

samples = 231
value = 0.337

X[20] <= 0.5
mse = 0.782

samples = 844
value = 0.112

mse = 0.669
samples = 110
value = 0.45

mse = 0.444
samples = 121
value = 0.228

mse = 0.768
samples = 786
value = 0.086

mse = 0.833
samples = 58
value = 0.516

X[5] <= 0.5
mse = 0.538

samples = 6699
value = 0.393

X[5] <= 0.5
mse = 28.555
samples = 2
value = 3.343

X[7] <= 0.5
mse = 0.381

samples = 2214
value = 0.348

X[13] <= 0.5
mse = 0.616

samples = 4485
value = 0.416

mse = 0.375
samples = 2149
value = 0.354

mse = 0.5
samples = 65
value = 0.148

mse = 0.349
samples = 3525
value = 0.396

mse = 1.609
samples = 960
value = 0.49

mse = 0.0
samples = 1
value = 10.9

mse = -0.0
samples = 1

value = -0.436

X[21] <= 1.498
mse = 0.882

samples = 6694
value = 0.186

X[19] <= 4.078
mse = 29.27
samples = 3
value = 4.102

X[1] <= 0.5
mse = 0.829

samples = 5382
value = 0.222

X[16] <= 0.5
mse = 1.077

samples = 1312
value = 0.034

X[19] <= 1.34
mse = 0.721

samples = 286
value = -0.061

X[16] <= 0.5
mse = 0.83

samples = 5096
value = 0.237

mse = 0.679
samples = 260
value = -0.017

mse = 0.933
samples = 26
value = -0.523

mse = 0.554
samples = 4858
value = 0.224

mse = 6.316
samples = 238
value = 0.506

X[19] <= 2.68
mse = 0.673

samples = 1227
value = -0.0

X[30] <= 0.5
mse = 6.655
samples = 85
value = 0.535

mse = 0.639
samples = 1142
value = 0.037

mse = 0.868
samples = 85
value = -0.452

mse = 4.161
samples = 67
value = 0.166

mse = 13.535
samples = 18
value = 1.906

mse = 0.0
samples = 1

value = 10.641

X[32] <= 0.5
mse = 1.269
samples = 2

value = -0.258

mse = 0.0
samples = 1

value = -1.851

mse = -0.0
samples = 1
value = 0.539

X[19] <= 1.78
mse = 0.547

samples = 5067
value = -1.031

X[21] <= -1.106
mse = 2.409

samples = 666
value = -0.563

X[1] <= 0.5
mse = 0.565

samples = 4519
value = -1.01

X[2] <= 0.5
mse = 0.365

samples = 548
value = -1.204

X[31] <= 0.5
mse = 0.448

samples = 304
value = -1.16

X[17] <= 0.5
mse = 0.572

samples = 4215
value = -0.999

X[21] <= 1.77
mse = 0.475

samples = 243
value = -1.105

X[4] <= 0.5
mse = 0.25

samples = 61
value = -1.412

X[21] <= 0.148
mse = 0.465

samples = 242
value = -1.113

mse = -0.0
samples = 1
value = 0.397

mse = 0.55
samples = 142
value = -1.032

mse = 0.332
samples = 100
value = -1.221

X[13] <= 0.5
mse = 0.267
samples = 52
value = -1.349

X[18] <= 0.5
mse = 0.008
samples = 9

value = -1.766

mse = 0.195
samples = 45
value = -1.395

mse = 0.591
samples = 7

value = -1.093

mse = 0.017
samples = 3

value = -1.671

mse = 0.002
samples = 6

value = -1.794

X[9] <= 0.5
mse = 0.204

samples = 178
value = -0.864

X[31] <= 0.5
mse = 0.587

samples = 4037
value = -1.005

X[22] <= 0.5
mse = 0.202

samples = 137
value = -0.82

X[24] <= 0.5
mse = 0.189
samples = 41
value = -0.996

mse = 0.154
samples = 95
value = -0.879

mse = 0.285
samples = 42
value = -0.687

mse = 0.194
samples = 32
value = -0.895

mse = 0.052
samples = 9
value = -1.3

X[19] <= -1.278
mse = 0.599

samples = 3328
value = -0.991

X[19] <= -0.285
mse = 0.528

samples = 709
value = -1.069

mse = 0.442
samples = 190
value = -1.11

mse = 0.607
samples = 3138
value = -0.984

mse = 0.593
samples = 241
value = -0.948

mse = 0.481
samples = 468
value = -1.134

X[15] <= 0.5
mse = 0.341

samples = 383
value = -1.281

X[24] <= 0.5
mse = 0.373

samples = 165
value = -1.023

X[17] <= 0.5
mse = 0.352

samples = 361
value = -1.261

X[21] <= 1.866
mse = 0.075
samples = 22
value = -1.592

X[31] <= 0.5
mse = 0.182
samples = 17
value = -0.891

X[11] <= 0.5
mse = 0.353

samples = 344
value = -1.276

mse = 0.144
samples = 16
value = -0.819

mse = 0.0
samples = 1

value = -1.605

mse = 0.317
samples = 219
value = -1.322

mse = 0.408
samples = 125
value = -1.189

X[3] <= 0.5
mse = 0.015
samples = 6

value = -1.717

X[19] <= 2.014
mse = 0.096
samples = 16
value = -1.515

mse = 0.004
samples = 5

value = -1.747

mse = 0.0
samples = 1

value = -1.329

mse = 0.04
samples = 4
value = -1.13

mse = 0.044
samples = 12
value = -1.651

X[11] <= 0.5
mse = 0.387

samples = 108
value = -0.93

X[21] <= 2.009
mse = 0.302
samples = 57
value = -1.196

X[14] <= 0.5
mse = 0.26

samples = 54
value = -1.109

X[9] <= 0.5
mse = 0.445
samples = 54
value = -0.779

mse = 0.264
samples = 47
value = -1.035

mse = 0.044
samples = 7
value = -1.51

mse = 0.47
samples = 37
value = -0.648

mse = 0.248
samples = 17
value = -1.09

X[21] <= 1.875
mse = 0.215
samples = 14
value = -0.802

X[19] <= 2.751
mse = 0.263
samples = 43
value = -1.324

mse = 0.127
samples = 5

value = -0.424

mse = 0.158
samples = 9

value = -0.978

mse = 0.203
samples = 36
value = -1.385

mse = 0.462
samples = 7

value = -0.971

X[19] <= -1.124
mse = 4.632
samples = 45
value = -0.018

X[21] <= 1.186
mse = 2.217

samples = 621
value = -0.604

X[9] <= 0.5
mse = 3.7

samples = 44
value = -0.19

mse = -0.0
samples = 1
value = 6.0

X[12] <= 0.5
mse = 4.807
samples = 18
value = 0.452

X[22] <= 0.5
mse = 2.234
samples = 26
value = -0.699

X[21] <= -1.18
mse = 3.271
samples = 15
value = -0.053

X[26] <= 0.5
mse = 4.575
samples = 3
value = 3.077

mse = 0.92
samples = 12
value = -0.66

mse = 5.096
samples = 3
value = 2.496

mse = 1.398
samples = 2
value = 2.148

mse = 0.0
samples = 1
value = 6.796

mse = 0.0
samples = 1
value = 5.687

X[19] <= -1.15
mse = 1.191
samples = 25
value = -0.867

mse = 0.817
samples = 23
value = -0.978

mse = 3.758
samples = 2
value = 0.419

X[19] <= 0.224
mse = 1.965

samples = 428
value = -0.685

X[15] <= 0.5
mse = 2.75

samples = 193
value = -0.417

X[18] <= 0.5
mse = 2.557

samples = 226
value = -0.47

X[21] <= 0.646
mse = 1.238

samples = 202
value = -0.912

X[6] <= 0.5
mse = 3.309

samples = 118
value = -0.245

X[9] <= 0.5
mse = 1.418

samples = 108
value = -0.765

mse = 3.073
samples = 117
value = -0.298

mse = 0.0
samples = 1
value = 4.825

mse = 0.551
samples = 53
value = -1.018

mse = 2.054
samples = 55
value = -0.55

X[13] <= 0.5
mse = 0.792
samples = 91
value = -1.054

X[21] <= 0.652
mse = 1.605

samples = 111
value = -0.783

mse = 0.256
samples = 65
value = -1.279

mse = 1.65
samples = 26
value = -0.532

mse = -0.0
samples = 1
value = 1.065

mse = 1.572
samples = 110
value = -0.816

X[32] <= 0.5
mse = 2.684

samples = 175
value = -0.496

X[4] <= 0.5
mse = 2.816
samples = 18
value = 0.257

X[4] <= 0.5
mse = 2.268

samples = 130
value = -0.638

X[19] <= 2.255
mse = 3.594
samples = 45
value = -0.114

mse = 1.533
samples = 116
value = -0.717

mse = 8.937
samples = 14
value = 0.15

mse = 1.665
samples = 34
value = -0.486

mse = 7.206
samples = 11
value = 0.816

X[18] <= 0.5
mse = 2.96

samples = 13
value = 0.807

X[11] <= 0.5
mse = 0.125
samples = 5

value = -1.027

mse = 0.835
samples = 6

value = -0.206

mse = 3.207
samples = 7
value = 1.567

mse = 0.0
samples = 1

value = -1.609

mse = 0.036
samples = 4
value = -0.86


